Global Warming

Word Search

WHO MADE THIS?

Created by Kim White Steele for Puzzles to Print.

CONTACT

admin@puzzles-to-print.com

ILLUSTRATIONS

All images used under license from Dreamstime.com -
[Tllustration 7949531 © Denizerkorkmaz.

COPYRIGHT

© 2024 Kim White Steele LLC - All rights reserved. Permis-
sion to copy for single classroom, facility, or home use only.
Not for public display.



Date:

Name:

S XX ®WDOWDEFIC—ZK<HOD—d4—F>KISA0O
O<CHIC><C<XFOXODOIFEFROISTUWT
WS <X O0mNnI<L>ZO0 4<O0—WeE JJ.u
9 O X FZW=Z200K —>ZWLUL0OX LWIEFJJHEFE >
n X HFZ—@XOLFOOWLOJLYXXmnYOa — O
Ol <COIDODKXxuLLONONXYNL>—WLIO0=ZO0
m SWOO-SFJ0QALZO —FOZ—FXWOorw
P:m gL 4 <md40Z20—F DO 4400 o NN W
5~ T 00U -»-Z=xXxoex<xooz-—-—ITn-—zZ2<>>0nuW
amnw NXXoda<<mO®onoxr ~-OXZzZTITz0OO =z =z
"SLEHYALROANlNALZROGROH
O [Evw-ao=z20x==z2IT=zZ2X=Z2T0=zZ>Z2uwWwW-—-20
lm SFEFXYXDO2TAa-—<—-—< O 10N O@OMD —Z N D
aw > <0 Z —Z JWWw=zZzDZXWw><>Wonon
b OFS-—FOoO®nwaX>0WeE<ao >¥ 4 — — W
o < — I =T O30 —xXxowmerKg:>=40IErk<x?z=>
— SONOC>XO>D<C<>0W->-NZO®@WA
G OZO0O0OmM>0FKFKF>NL>FZO0OTIT=zZOO
— L WS XO0OXD—-—F>SQOSW<ZIazZzmODD
S 00 —-—=2Z20o0wL0kF >0 —-—X o<k << WaomI
—0OD>-IZaoa>F-—-—0OKXwW>—-00—m -
"..M“kl.m | z Z —
20583, B L, Q8 PR .. 92 %3
_Odw..mCS”_%NNAAHnNuOWM_H_
pPSzZecPer £ 85825358 g 3 9
L CoSE582Ss ! 2 2 % &% wo 2 g YR Z
W E3gre38: 2 33 9 g g @ 2 L g F
foSss559T . & S - z o
L OfesvES ° 2
1 © 1

LA NINA

FLOODING

MELTING

FOOTPRINT

OZONE

FUTURE

POLLUTION

GLACIERS

SEA LEVEL
SUSTAINABILITY

GLOBAL
GREENHOUSE
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VANISHING

ICE CAPS

WARMING

JAKOBSHAVN GLACIER
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